4.3 Practice pg. 170-171 #5-19 odd (ANSWERS WITH WOR
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The area of the trapezoid is 24 square units.

6. A= —h(b +b)
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The area of the trapezoid is 27 square units.
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7. A= h(b +b)
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The area of the trapezoid is 28 square inches.

8. A= -;—h(bl + by)

The area of the trapezoid is 10 square centimeters.
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The area of the trapezoid is 105 square feet.
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10. The area formula should include the height of the
trapezoid.
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The area of the trapezoid is 8 square units.
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The area of the trapezoid is 16 square units.



13. 4 = —h(b, + by)
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The area of the trapezoid is 12 square units.

14. A= _h(b + b,)
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The area of the trapezoid-shaped region is 16 square feet.
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of the trapezond 15 60 square inches.
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= 253
The area of the trapezoad 1s 253 square centimeters.
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The area of the traperowd 15 78 square mules.
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The area of the trapesowd 15 301 square mefers.

18, Area of rectansde = Area of mapezoad
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The length of the rectngle 5 18 feet



